
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

(حساب الأسس (الأس السالب

(−10) − (−6) =2 (−7) − 5 =(−1)

(−5) − 6 =2 10 + (−7) =0

(−1) + 5 =2 4 − (−3) =2

8 − 9 =(−1) (−9) + 1 =

(−10) − (−3) =(−1) 2 + 6 =(−2)

(−10) + 8 =2 (−9) − 3 =(−2)

(−2) − 7 =0 1 + (−7) =2

(−4) − (−3) =2 8 − (−8) =(−1)

(−6) + (−8) =(−2) 3 − (−7) =(−1)

4 + (−10) =0 (−3) + (−3) =(−2)
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　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

(حساب الأسس (الأس السالب

(−10) − (−6) = 1062 (−7) − 5 = (− ) = (−5 )(−1)

7
36

7
1

(−5) − 6 = 192 10 + (−7) = (−6)0

(−1) + 5 = 62 4 − (−3) = 192

8 − 9 = (− ) = (−8 )(−1)

8
71

8
7

(−9) + 1 = (−8)

(−10) − (−3) = = 2(−1)

10
29

10
9

2 + 6 = = 6(−2)

4
25

4
1

(−10) + 8 = 1082 (−9) − 3 = (− ) = (−2 )(−2)

81
242

81
80

(−2) − 7 = (−6)0 1 + (−7) = (−6)2

(−4) − (−3) = 192 8 − (−8) = = 8(−1)

8
65

8
1

(−6) + (−8) = (− ) = (−7 )(−2)

36
287

36
35

3 − (−7) = = 7(−1)

3
22

3
1

4 + (−10) = (−9)0 (−3) + (−3) = (− ) = (−2 )(−2)

9
26

9
8
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